Efficiency vs P,

— 0.1
o

2 0.09
>
20.08
o
o
20.07
0]
0.06

0.05F
0.04f
0.03F

0.02

0.01F

Ratio

OF
1} +4

0.5

—=— DQMstep3_QCD_CKF
—e— DQMstep3_QCD_default
—+— DQMstep3_QCD_ckfPixelLess

c 0.1
2
20.09
2
£0.08

= o
£0.07F
o E
0.06f
0.05f
0.04F
0.03E ,
0.02F -y -4
0.01F -4y F b
E R

...................

Ratio

)
r T

0.5F{-1--

f
3 i #Hﬂfﬂ Hy “”*ﬂ i m -

it *HH% H* il

Efficiency vs ¢

3 - 1 2 3
TP N

o-0.05
[
Q.045
2
$0.04
(5]
. 035
T
0. 03
0. 025
0. 02
0. 015

001 --------------------------------------

0. 005

Ratio
1—\

0.8

et T*ﬂ* e W f mﬂ T+++

EL 1+¢+H+ + +++ 4'+H+++++i +L+++¢l+

TP(p




	Contents
	Page 1


